Today | will do different examples in=-ageh
Jeetmre, sce solutions online and video later
for more details. | hope this gives you more

examples to work from.
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Let f(x) = x?sin(x)
(a) Find the Taylor series for f(x) at b = 0.
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Let X = i— ° \
t 3 (1+%43)
F(x)=j S dt & 1< gl
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(a) Find the Taylor series for F(x) at b = 0. ¥ | - (__(_tg)
(b) Find the open interval of convergence. L . o0
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Let e = — = 7 (-x%)
_ 1 —2x? I+ X% [-(—X?') -
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(a) Find the g(x) Taylor series based at b = 0. = = X K 2K
(b) Find the open interval of convergence. Z D" x
(c) Use the first three nonzero terms of the - I Q2 | —  — _ o _

series from part (a) to approximate:
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Let f(x) = x3e*".

(a) Find the Taylor series for f(x) at b=0.
(b) Give the 5% Taylor polynomial.

(c) Find the Taylor series for
X

gx) = jt3et2dt
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Let

X X

F(x) =jet2dt and G(x) = jF(t)dt,

0 0

(a) Find the Taylor series for F(x) at b =0.
(b) Find T3 (x), the 3™ Taylor polynomial, for
G(x) based at b =0.
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Let

X

Alx) = j e t’dt.
0
(a) Find the 15t and 2" Taylor polynomials
for A(x) based at b = 0.
(b) Use the 2" Taylor Polynomial to

approximate
1/2
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(c) Use Taylor’s inequality to give an upper

bound on the error for the previous part
(thatis, on theinterval 0 < x < 1/2)



